[lpon3BoaHas cnoXxHou
doyHKLUMU




CnoxHasa pyHKUMA

y=f(u)uel u=p(x),xcX

GyHkuua v = f(@(x)) ,aprymeHToM KOTOPOW ABMAETCS
byHKUMA @(X) HasbiBAETCA CROXHOW hyHKLUMe !
HE3ABUCUMOW NEPEMEHHON XC

Mpumep. y=Ilgu,u € U = (0, +c0)

2
u=1-x", xeR

y=lg(1-x>) -cnoxHas

1% 50 -l<x<l X =(-L1)



[Ipon3BOAHAA CJI0KHOH
GYHKIIUH

|
(fla(x))) =Ff(g(x)

[Ipumepskr:

o — 3) =3 5x—3)2-(5x_3)':
=U(5%—3)%- 5 = 15({5x - 3)?

) (Sin(4x+8))':COS(4X+8)'(4X+8)':

=\COs(4X +8]'4 =4 cos(4x + 8



r

1. (u"] = nu ‘U 11. (arcsinu)’ =
\ - V1—u?2
2.8 (a ) —a -lna-u’ ( ), '
12. (arccosu) =—
3. ( ) =e" -u’ \/l—u?'
4. (log, )' 13. (arctg u e ’
. o ( ) 14+u”
r u ’ r
5. (Inu) s 14. (arcctg u) =—1:‘u2

6. (sinu)' — cosu-u’

7. (cosu) = —sinu -2t

8. (V) =

2«)’_

u'

COS2 U

9. (tg u)

10. (ctgu) = ——“

Sin “~ u



Hatioume npou3go0Hyl0 C/10XCHOU (YHKYUU

f (x) =cos3x

f(x)=sin(2x — 7x)
X

f(x)=1g >

f(x)=(3-4x)'
f (x) =+/cos x

() =ctg~
X
f(x)=+/x>=5
1

f(x)=

sin* x



15) f(x)= 2"

18) f(x)=In4x

1) f(x)=~arctan S

) f(x)=¢" (3x-1)

16 £(2 U)
19) f(x)=log, (3x-4)

1) f(x)=2arcsin(3x-1)

25) f(x)=3 logy (6x-1)

1 f(x)=¢"
20) f(x)=3arccos(4+3x)

23) f(x)=(6x-1)tan(2x-1)

26) f(x)= cosxIn(5x+6)
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+17x, x,
)x():

’ x0=5

2x3 + 3, x0=1
— 4x

__2x+7
T x—4
3x2 =3
xX+1
x2

16) y = —7x + 5x* + x% x,

12) y=5x* —3x3 + 5x, x,

11) y=V3x2 — 1, x,
17) y = xVx —5,x¢

13)y
14)y
15)y

2

1
1

3X, X9 =—1
X0

;xO

1
2)7’

—_— (x—

X

3

X4-2
2x— 1)° = Tx,x5 =1

x3-1

1) 9 =28 —%=+ 3, %
2)y = 2565 =3), xg=~1
6) y=(x + 1)°> —1,5x2, x,

9) y=\/§, xo=4

4)y
5)y
7)y



